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-2 ) (S/W) 106,291,870&%12/100 12,756
OURHAAAE X2 6,690




SN B
& XNsEHEAE 73S
&l HPFES (CH9: &S1)
- _ olE|
SA - B C(BH) - MISAY - BAS Ofl oK 05”55 HR=2
-~ B (H/W) 29,774,0002+8/100 2,382
I 272 (S/W) 35,900,0002%12/100 4,308
OLEMMKIAAE S E4=(S/W)
433,560 <6 2,602
ONAIY & SXB2(SM)
18,200,0002/%12/100 2,184
OMIHBEED | Z2URIAIAE SXI22=(S/W)
95,060,0002!%12/100 11,408
OPCIHRIEEE S AIAEI(PI) SXIE24=(S/W)
53,082,950 x12/100 6,370
OLUHPCRIZIOIAIAE! SXIE2=(S/W)
20,075,0002/%12/100 2,409
ORXHAEZ2I A AED S X2 2=(S/W)
35,000,0002%12/100 4,200
OAIAEIEZHHAIAE SXES 83
-Z2724(S/W) 690,990%!x12/100 83
OZHOIX AsSM X2 7,085
-IEHAZERIN
19,400,0002%12/100 2,328
“HBAMATES O
15,640,0002%x12/100 1,877
~HR2ORMATE0](24)
24 ,000,0002%12/100 2,880
OS2 0I(SO)AAE S 24
19,585,0002«15/100 2,938
OUI0IHHIOIAEZZ)H(QLIE) SRES
145,141 ,0008/x15/100 21,772
OAOILIKIAIAE X224
93,558,700 %8/100 7,485
OSSN =E JIASIAIAE SN2
50, 165,570 %12/100 6,020
OZ22Z20I018 2Z APIANAE SIS
20,000,000%12/100 2,400
OSEHHAIEAAE Al22
7,000,000& «12& 84,000
207 A EH| 22,000 55,000 233,000
02 MARNEH] 22,000 55,000 33,000
OSLASEHRPA) E20 &9 22,000
308 KIXISHHISO|IM 144,126 142,735 1,391
11 2| 2SO HSHE A S EAIH] 144,126 142,735 1,391
0278 & THollE R AIAE X2 109,926
OXNYUHEZEAIAE ACSHHEH 29 6,600
OREDOIAAE E& KAl 5,600
O2-Liet 2AAIAE SX2e| 42 fE 22,000
405 KHSSHI 25,000 20,000 5,000
01 AL EEFSHI 25,000 20,000 5,000




SN HED
A USHPAS 28
el Y2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| omestal ru(may) 25,000
ScRE ALY 29 57,600 57,600
201 Ler2 3| 57,600 57,600
2 ss=23Hl 57,600 57,600
ORIAZ2ALE ABE
6,400,000 9 57,600
HAME P R =2 347,666 371,537 A23,871
201 ZRt=3Yl 72,666 79,437 26,771
01 Ab2teltl 10,000 10,000 0
Oxuta 29 10,000
2 2222 62,666 69,437 AB,TT1
OTAZH |2+ 62,666
~2iFE 1,360, 00021 +500CH+7/ 100 47,600
-Zelf 600, 0002 *200CH*7/100 8,400
-ES 1,400,000 17CH*7/100 1,666
DIEH BAEH 5,000
405 KHakF S| 275,000 292,100 217,100
01 A= FH =8I 275,000 292,100 A17,100
OET Y| 275,000
—HRH 245,000
= 1,300,000 150CH 195,000
- 2UH 250,000 +200CH 50,000
-ZelH 600, 0002 «50CH 30,000
48 ATEF0 7Y U BB 140,480 208,300 AB7,820
201 Zere ) 140,480 208,300 AB7,820
01 Al2tefsl 140,480 208,300 A67,820
OARE £ZESO] 73,140
S Of fice(GAS) 250,000 20074 50,000
—E2(AA) 89,0002 x260H 23,140
OOI0IX B & AZE0f
550, 0002 324 17,600
Ofdl AZEN 37,140
254 AHE 600,000 194 11,400
~AT2 A 40,0002 <6 2,640
2ERE 33,0002 7004 23,100
OSERIEl 2TEF0f 16,0002 720 10,800
O3AXNE LZE N 600,000 *3H 1,800
HOIEEES A3l 6,562 6,552 0
201 ZRt=3hl 1,800 1,800
01 A2 22l 1,800 1,800
ONIYRES D ALY
100, 0002 +BAI 2¢ 800
ONeIEEEs E2= MH 1,000




A lFL
M NsEEAe 74
el Y2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 4,752 4,752
01 2LHoIH 4,752 4,752
OJfelde 2elat] 84 4,752
NS5 110,702 111,957 A1,285
= 9,398
o 101,304
SHOIX 29 25,450 25,481 A31
201 et 3| 25,450 25,481 A31
01 At 22|l 3,500 3,500 0
agels 2 Tl AEE 2,000
Odl E24 21503 25 &AM 1,500
2 s5=34l 21,950 21,981 A31
Oll4kz SHIOIX =RI2=
183,678,5002 11.95% 21,950
CIAE SHg 23t 32,230 39,130 26,900
201 ger=3| 32,230 31,990 240
01 At 2|l 32,230 31,990 240
OUIXNE 98 Hal u=x 29,650
-SAE 35,0002 *30Al 2x232] 24,150
TN PAIES 11,0002 500 5,500
OF=EtusE FABHIAIAE R
90,0003 x 12 1,080
OZ=Z3usd 24 1,500
AOIHZENE 23 18,040 14,600 3,440
201 =3 18,040 14,600 3,440
01 At2t2ltl 18,040 14,600 3,440
OAOIH Didtz8l 222 M 4,000
OAROIH pidtzel 22 S=% M
70,0002 * 12K 840
OAROIH DdtZ el OIHE =&
2,200,000 +62] 13,200
ZL230E 435t 1,500 1,500 0
201 2egh=3| 1,500 1,500
2 s3234| 1,500 1,500
OdE=3at0t= S0l =2+
15,000,000 *10% 1,500
d=235ls =2g9edal 8,000 8,000 0
= 2,160
o 5,840
402 2I2F X201 & 8,000 8,000 0
s 2,160
s 5,840
02 I EASEZ(0IETHR) 8,000 8,000 0




2A:
X XH -
o e

=aak

Ofl &F2H

HMEE
Ofl &k2h

M H

8,000
2,160
5,840

M

24,402
7,238
17,164

23,246

1,156

307 212+01&

MO

24,402
7,238
17,164

23,246

1,156

-

2,100,000&+1H
3,000,000&+1H

2,010,580 «1H« 12 »80%

M

24,402
24,402
2,100
3,000
19,302
7,238
12,064

23,246

1,156

1
40
ton

0

1,080

1,080

T
08

1,080

1,080

10
[ H

or
0

1,080

120

960

1,080

M H

3,587,102
186,816
3,400,286

3,865,8%

N278,79%4

UMY

2,432,836
186,816
2,246,020

2,602,003

169,167

2,151,518

2,096,069

55,449

905,819

845,509

60,310

21,0002 1242

32,0003 x1423| &+ 123
82,0003 x4472| 4+ 128

18,469, 0002 *8CH*6/100

18,581, 0002 *8CH+6/100

2,752
2,500

252
903,067
494,376

54,528
439,848
218,700

8,866

8,919

2,764

842,745

AN12

60,322




A lFL
Ny HPEAS S5 OFL 2H
ol DEE F2ESAAHIA FE (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-XHEPSIAIE-2018
18,723,000 *8CH*6/100 8,988
A S OAE-2019
12,802,000 *28CH+6/100 21,508
-HEl0lIEs8-2015
5,117,750 +21CH+6/100 6.449
-0el0I2S2-2016
6,023,000 *13CH*6/100 4,698
-0{2l0I12==-2018
4,542, 0002 +67CH+6/100 18,259
-0{el01258-2020
3,175,000& *50CH6/100 9,525
- etsE0E2SI1-2014
6,585,000 *35CH*6/100 13,829
—HNStsE0E 2 SI1-2015
7,951,000 *30CH*6/100 14,312
- etsE0E2HEI1-2016
6,222,000& *33CH*6/100 12,320
- etsE0E2SI1-2017
6,293,000 *27CH*6/100 10,195
M 22017 7,975, 0002 +40CH+6/100 19,140
~HEAHE2018 5,829,000 »50CH*6/100 17,487
-~HESHE2019 4,642,000 +63CH*6/100 17,547
AT B(5)H012)
8,971,000 *34CH+6/100 18,301
AL 22000 3,005, 00021 #45CH+6/ 100 8,357
O HIEE ZHI S 137,927
-StE 01 (148) 644,038,000& 6/100 38,643
-SAEH 2 RFUHEHI(TSE)
131,787,000& *6/100 7,908
-ATEN(8B) 373,758,000&%10/100 37,376
-HIERD 2oHEHI(85)
482,390,000& *8/100 38,592
CCIVIHARIEZ 2 AIAE
48,000,000 *8/100 3,840
~AOtES S 2EHAIA - (S/W)
62,800,000& *10/100 6,280
-ADIESE2ER AL A (H/W)
17,132,000 +6/100 1,028
- L XIAIAE(IPS)
53,240,0002 *8/100 4,260
oggs v &=
6,000& *5637H A=+ 123 40,536
O&IIEEANE BE=
288,200 4004 A 11,528
307 lztol & 373,632 362,800 20,832
05 2ItRIE = 373,632 352,800 20,832




A lFL
Ny HPEAS S5 OFL 2H
el DEE HPUSAAMHA PH (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZLIHRY 84
3,892,000 8+ 1200 & 373,632
401 AIZHIX R0 450,600 754,600 304,000
01 AlZH| 450,000 754,000 304,000
OXEHSAE TV &l
30,000, 0002 =5CH 150,000
ogds Cv £ 10,000,000 *30CH 300,000
03 Al 20HHI 600 600 0
OCCTV & X A& 0HYI 600
405 KHaHF S| 421,467 143,160 278,307
01 ML ESFSHI 421,467 143,160 278,307
OAIABIHARIE & AHF2e =IF
81,840,000 x 14 81,840
OXlsd dE2MBMELHAAE
79,627,000 x14] 79,627
OADIEZAl HHYAHHIA 75
260,000,000 x 14 260,000
HESASA AISH ZA 6,502 6,502
201 er=23y| 1,750 1,750
01 AtR2t2|HI 1,750 1,750
OZESUSA AISE ZAIEHl nEH|
250,000 *7CH*12] 1,750
202 04| 4,752 4,752
01 =LHO LI 4,752 4,752
OZESAUSAI AISHE A SHEAAM 4,752
Oelol2= -9 0TV &Xl 88,000 0 88,000
401 AIZHIZ S0 88,000 88,000
01 Al&H| 88,000 88,000
L= 02025 &(S¥) CCTV uX-2013
4,000,000& »22CH 88,000
ZSSTuCCTV 2H2E el 186,816 179,232 7,584
== 186,816
307 elztol & 186,816 179,232 7,584
= 186,816
05 2ItRIE = 186,816 179,232 7,584
O=SstulCly 2HH2@ el2t]
3,892,000 x4« 12 186,816
= 186,816
MO HESMY 29 1,154,266 1,263,893 109,627
FESAUALE H AIE 2e 490,779 656,313 165,534
101 @124H| 28,630 22,717 5,913
M ORNZZ2NSE S 28,630 2,717 5,913
Ouleta JIZtH=Z22 A 212
76,9603 1H =12 F+31& 28,630




SN BED
N ZJESNS Set s 23
ol HEFC 2SN 23 (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
201 LBt 231,571 272,603 A41,032
02 S2=24l 231,571 272,603 N41,032
O7UsSeId=Z || 2,000
Os4aEH & 3ld 0™ &XIl 20,000
OIPESIAIAE = XId] 723,653,000 *6% 43,420
OTUZZSUY Y
616,046,650 *8% 49,284
OUEMIARSIH 2 ZUFH 2
269,758,000 *8% 21,581
OF2AHESAIAE S|
274,598, 7003 +8% 21,968
ORFEMAEXI(PS) KX 7,023
-Saa 10,085,470 «8% 807
—Sota 26,662,000 *2CH *8% 4,266
—CCTV 2tHI I Ed 24,368,000 «8% 1,950
Oogzesll || 4,403
-Sola 15,579,000 6% 935
—Hata 15,345,000 «6% 921
=AM 26,950,000 +6% 1,617
—CCTV2H I S E 15,500,000 *6% 930
OZA3IAAE FXIH 1,735
-2 & IP Jtoilet 15,687,000 8% 1,255
—POP TV 3,000,000 +2CH +8% 480
OHZEH(3294) KX
19,300,000 6% 1,158
OXZ2E(82) X 34,400,000 *6% 2,064
OSEHFLIAOIE (WC)AI A KXY
51,350,000 *%% 4,622
OFAX = XId| 250, 0002 *35CH*6% 525
B 2 LEHH 7
400,0002 %105 4,000
O8&21J| || 3,000
Odlag ™I X 75,756,000 *6% 4,546
OREHEXNAAE S|
8,112,000 « 14 8,112
OADIEQISYSAIAE ||
171,300,000 »10% 17,130
OL==HARA HERZA 74 7,500
O=d & JINE HER3 M=2d 7,500
401 AIEHIZL 2 OHYI 37,200 150,000 A112,800
01 AlZHI 37,200 150,000 A112,800
OUMSAIRA UIERT SA 15,400
Odtopl|2 == LHR3/H W 21,800
405 KHAHF SH 193,378 210,993 A17,615




A lFL
Ny HPEAS S8 OFA 2H
ol HEFC 2SN 23 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AL =S F=HI 193,378 210,993 A17,615
OZHOIXEY == [2AX
3,900,000 *5CH 19,500
OUIER S&e2tel AIAE(VIPW 50,153
-UEATD AR 37,915
-ctold A~ 14,5002 =844 H 12,238
OTUY == POE AKX
2,600,000 * 19CH 49,400
ORLATA L Y b5 AX
1,200,000 * 19CH 22,800
OIPE S| 12,045
-1050i 577,500 = 10CH 5,775
-1030i 313, 5003 20CH 6,270
OS22a sgat| 39,480
JESALet 220,687 171,524 49,163
201 et 3| 51,687 171,524 119,837
02 s3=gHl 51,687 51,5624 163
O&A L [ 41,250,000 *8% 3,300
OFMHAIOIE RHHAIAE F I
34,400,000 8% 2,752
OHIEE SHNENZLEX/SAAIAE RXH|
42,300,000 8% 3,384
OEeHSB =Xl 17,600,000 8% 1,408
O LLTAIAS(RY) =S|
34,200,000 8% 2,736
OFlotE A ATES 0 S|
39, 160, 0002 8% 3,133
ODDoStHE AIAE R XIH
40,150,000 *8% 3,212
Og=ztatdl =Xl 48,400,000 *8% 3,872
O AUTHAI A (LRY) KX/
25,105,000 8% 2,009
O LUXHAI A (ABIE) SXIHI
25,105,000 8% 2,009
OEHEXEHAIAE(0IZ3) KX
42,300,000 *8% 3,384
O XHAI AL (0ISE) =X
24,970,000 8% 1,998
Og=3a&HI(0I1F3) |
69,726,000 8% 5,579
OAXLHAAS(SHE) =S|
24,054, 1902 8% 1,925
OAMOIHENUHSZ2ASAALE RAIHI
28,751,440 8% 2,301
OUERAIZE 2 MO AIAE(NAC) SXIHI
119,240, 0002 8%+0. 67 6,392




A lFL
Ny HPEAS S8 OFA 2H
el e He FESAY 29 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OWN(ReIJLZII8) |
8,910,000& »8%+0.5 357
HAANAE =B
48,400,000& »8%+0.54 1,936
FSHI 169,000 169,000
MU S EFSHI 169,000 169,000
O:= QU 25t wil 47,000
Ok= ZFYUXHAIAE WAl 43,000
OL= RHXIHAIOIE | A8 WA 79,000
IJESUY Mz X B32= 442,800 436,056 6,744
201 ger= 3| 442,800 436,056 6,744
02 S3=gHl 442,800 436,056 6,744
OfIgd83 AE= 33,0002 +8LH* 122 3,168
O=II8ES4 MHIAZ(HE3M)
350,000& *362| &1 * 123 151,200
Ogetdst A28
25,0002 x1662| & * 12 49,800
O=Uas AE= 125,000 »4CH* 122 6,000
O=UdE d=
24,0003 »452| &+ 123 12,960
OgRE 2HY 3ld=
32,0002 +1193| &+ 123 45,696
HA Motz 5,000,0002 12& 60,000
3200l =
33,0003 *1062| & * 123 41,976
OALIE Ot=es 2AE & 3z
6.,000,000& «12& 72,000
HH2AZH(HEM) 62,007,867 60,060,509 1,947,358
Jl 120,000
= 6,000
Ea 61,881,867
olA2HH(ER) 61,465,550 59,537,065 1,928,485
Jl 120,000
= 6,000
= 61,339,550
IAH(SZ) 45,471,263 44,942,441 528,822
101 @124H| 45,471,263 44,942,441 528,822
01 &2 42,028,679 42,056,065 N27,386
oJlzs 31,356,857
24 120,000,000 1 120,000
42 (82 %) 101,827,000& 1 101,827
-43(80eS) 101,827,000 3 305,481
S3(8 e S) 85,878,000& »36H 3,091,608
6= (453) 4,165,000 «220E 122 10,995,600




SA BHED
HI: HNSAAY(HF D)
Gl A2 HH(SZ) R
SN - B S(BH) - HPAY - BAS ol by G o HDS2
-7=2(1382) 3,082,300& x178H + 12& 6,583,793
-83(558) 2,075,500 x 1615+ 12& 4,009,866
92(352) 1,748,3002 %111 %122 2,328,736
A2 (EUASE) 85,878,000 x3%H 257,634
K ZAH1252) 2,943,400 x26H * 12& 918,341
-HIAH1BE ) 3,276, 100& x12H x 123 471,759
~Hosd 28,962,818, 0002 +7. 5% 2,172,212
O ¢ 5,775,977
-Zu2Rsg 2,772,101
-2 0| € X =gt 500,000
-2Y3RASY 50,0002 20 * 128 17,400
—o R A 200,000 *19% 122 45,600
-F0t5& Y 750,000 x»46H 12 414,000
~HILIAR 519,600
2530 &t 130,000 * 165 12& 257,400
- 200 A ~25E 0| Bt
110,000& 35 * 12 46,200
- 158 0] A ~20E 0] 2t
80,000&x91H *12& 87,360
- 1010/ A~ 1511 0| 2
60,0003 *77H*12& 55,440
- 50 &b~ 10 0] 2
50,0002 * 122« 12& 73,200
-jeafary 8r7.212
- 52(NEE)
5,054, 7003« 18 * 122 *4. 1% 2,487
62 (275 2)
4,303,900 * 120& 122 %4, 1% 254,103
2(1758)
3,381, 7003 x50H 122 *4 . 1% B, 164
HAIRAH(I7EE2)
3,807,500 x4« 122 %4, 1% 7,494
XEAH(1752)
3,379, 4002 *9 122 x4. 1% 14,964
“JpEAC 512,400
B < Xt 40,0003 *400H + 12& 192,000
o IPNIE 20,0003 «65H «12& 15,600
S'IVE 60,0002 2302 * 102! 165,600
PO IVEVE
100,000& 40+ 12& 48,000
J|l Et 20,0002 *380Y * 122 91,200
—Plaaesy 43,800
s= 50,0008 %252 * 122 15,000
HE 40,0002 +60% * 122 28,800
—S424Yg 554,064




A HFL
M HZYRAZHI(FEY
Cel: QIHARHHI(E2) (S ® )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Jl=dE+d 174,480
53 50,0002 x7& 123 4,200
6~7= 30,0002 x136H 122 48,960
8~9=2 20,0003 x134F 128 32,160
K2 60,0002 x2& * 122 1,440
UNE=N; 50,0003 «26H * 12& 15,600
JISE - IIM Jher2
30,0002 x167H =122 60,120
AFHIIAL JtAtE
20,0002 +31& 128 7,440
ANg2dd Jtets
10,0002 162 * 12 1,920
ANY2HA Jt=
20,00021%11Z* 122 2,640
oEeRLy 75,600
ASHH(2YR)
50,0002 x19E «12& 11,400
AN (2ATE)
250,0002 x19g ~ 122 57,000
SI=PIN; 50,0002 x 12+ 122 7,200
- HAYRg 9,600
AAb 80,0002 x10E 122 9,600
- g 8,544
sl(63) 40,0002 x 1+ 122 480
S¢l(83 0IgH) 36,0002 x2& =122 864
(I =EdE 22)
150,000 x4 * 122 7,200
- AR SAEREE 77,400
=g 70,0002 x72H* 122 60,480
k= 30,000 x47E 128 16,920
g 50,0002 x52EF « 12 31,200
Ol Ab==E 10,080
52 80,0008 x3& * 122 2,880
= 60,0003 »5& 122 3,600
78 0ot 50,000 6 * 122 3,600
sHs2f=g
70,0003 «199H 123 167,160
“CAlZ22t QIMNNESE
550,000 «3H 122 19,800
OF A SAMH| 140,000 x790E « 12 1,327,200
OE &=l 2,530,810
OoOt24HI(152) 1,037,835
02 JIEtA 2= 2,677,641 2,150,570 527,071
OFAZZE 1,580,489
-J2s 1,112,957




A HFL
A HZYRAZHI(BEM)
Cel: QIHARHHI(E2) (Ste ®
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 29315 2) 4,270, 10021+ 12+ 122 51,242
- AAH(2BEE) 3,905, 00021+ 133+ 122 609,180
- A (198E) 3,158, 00024 +2% 122 75,792
=23(1158) 2,486,200 % 102 122 298,344
HANYES(ED 2152)
3,266,600 x2H 122 78,399
g2=g 83,472
“2sgonts 28,680
2580(4 130,000 x14&«12& 21,840
- 2001 A~ 25108
110,000 x 1 » 122 1,320
- 1580l & ~20H0( 2
80,0002 4524 128 4,800
- 10810144~ 15:0[ ¢
60,0002 x1& * 122 720
EE 44,400
- B A 40,0003 x25H  12& 12,000
=1 IIE 60,0002 x25H 123 18,000
- AW Ol A
100,000 x3& * 122 3,600
JIEt 20,0003 x45E « 12 10,800
-S4 (Fd) 3,600
=T AR A 50,0002 +x6& * 122 3,600
-E2RFL(EE) 480
- EAk2tel 40,0002 x1&* 122 480
-G=A=E 1,560
SRS 40,0003 x1+12& 480
EATSEs 30,0008 +x3& * 122 1,080
=L 1,359,832,42021+1.65% 22,438
~HouZAl| 140, 00024 %2824 » 122 47,040
~YEEIH| 111,206
~GIOHR AL (152) 39,881
-AZtelag s 70,744
-oRIRRAaY 4,864
S EELES 9,077
OAIZHIERR] - &SI K 815,512
-J2s 704,35
AR DRI (LES)
51,928,000& 1 51,928
AR IHI(CHS)
45,237,0003 +34d 135,711
AR ETRI DRI (2H2)
39,859, 000& 6 239,154
Al BRI DRI (0HS)
31,981,000 9 »65% 187,089




A HFL
A HZYRAZHI(BEM)
Gl A2 HH(SZ) (SH9: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2BIIM (724 E)
45,237 0002 *22 9,474
-H o4 ZAH| 140,0002052124x 128 35,280
e CER=TONEIC )
200,000« 19 122 45,600
-Gt &I (15Y) 10,000
AR 2R 20,276
OaR+s 281,640
-J2s 202,380
- =298 1838)
1,686,500 «20E 6 202,380
-YHSAH| 140,000 x20H 6 16,800
A2t 2R g 21,984
- JHE 9, 1602 x20E*10AI 2H+6E 10,992
axz 9, 1603 x20& x10AI 2H+6E 10,992
-FESOI 40,476
- BRSO
1,686,500 *20E «60%+22] 40,476
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